ITEM NO. [PART NUMBER DESCRIPTION FINISH| WEIGHT (PER) |QTY.
1 TW1159.01 HEAVY DUTY CROSSOVER PLATE, 5/8' HARDWAREH.D.G. 6.67 1
2 GU54550 5/8"x 5-1/2"x 3-5/8"x 2-1/2" U-BOLT H.D.G. 1.23 4
3 GFO5 5/8" FLAT WASHER H.D.G. 0.08 8
4 GLO5 5/8" LOCK WASHER H.D.G. 0.03 8
5 GBO516A 5/8" HEX NUT H.D.G. 0.12 8
FITS 3-1/2" O.D. PIPE
2X 2X 2X
(4) PLACES
gll
7II — i . 8
- A _ ]
© © =
M M) | |
10"
@ U | |
FITS 3-1/2" O.D. PIP ) ( 1 ‘_1 )
UNLESS OTHERWISE SPECIFIED: DESCRIPTION: HEAVY DUTY CROSSOVER PLATE KIT, 3-1/2" O.D.
DIMENSIONS ARE IN INCHES TO 3-1/2" O.D. PIPE
TOLERANCE * 1/16 PRO TOWER DWG NO:
SlZE PROPRIETARY AND CONFIDENTIAL MANUFACTU RING TW] ] 64
B | mmemoncommenys LLC. i e
MATERIAL PRO TOWER MANUFACTURING L.L.C. ANY 5601 San Francisco St NE ECREDBY: :
R Albuquerque, NM. 87109 |rsumme | %0202 [y
HD.G. PRO TOWER MANUFACTURING LLC. 1 (505) 924-2810 SHEET: 1 of SCALE NTS 13.36




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


